

भारत सरकार /Government of India वाणिज्य एवं उद्योग मंत्रालय/Ministry of Commerce & Industry विकास आयुक्त का कार्यालय/Office of the Development Commissioner दहेज विशेष आर्थिक क्षेत्र/Dahej Special Economic Zone ४वीं मंजिल, फडीया चेम्बर्स/4th Floor, Fadia Chambers, टाइम्स ओफ इन्डीयa Bavana/Times of India Building,

आश्रम रोड, अहमदाबाद -38 0 009.Ashram Road, AHMEDABAD-380 009.

दूरभाष/Tel: (079) 2658-3027, 2658-3029,Fax: (079) 2658-3025

[--mao[la/email: dcsez\_dahej@yahoo.com

KASEZ/DCO/AC/123/2008-09/

Date: 19th March, 2013.

To: All Approval Committee members:-

1.	Director, MOC&I, New Delhi;	:	jdc.dahej@gmail.com
2.	Commissioner of Central Excise, Vadodara -II	:	
3.	Commissioner of Income Tax, Vadodara - III;	:	amblinking@yahoo.com
4.	Jt. DGFT, Vadodara	:	bpbunker1@gmail.com
5.	Director (Banking), Banking Dvn., MOF, New Delhi	:	
6.	District Collector, Bharuch, Gujarat.	:	addl-collector-bha@gujarat.gov.in
7.	General Manager, DIC, Bharuch.	:	gm-dic-bha@gujarat.gov.in
8.	Developer (Dahej - SEZ), Gandhinagar	:	ceo@dahejsez.com
9.	Member Secretary, Gujarat Pollution Control Board	:	gpcb-bha@gujarat.gov.in

#### Madam/Sir,

Subject:- Forty-fifth meeting of the Approval Committee for Dahej - SEZ.

Reference :- Letter No. KASEZ/P&C/5-A/91/07/6600, dated 01-08-2008.

This is to inform you that the Forty fifth meeting of the Unit Approval Committee for Dahej -Special Economic Zone, would be chaired by Shri Mahendra Jain, IAS Development Commissioner, Dahej SEZ, on Tuesday, 26th March, 2013 at 1130 hours in this office. You are requested to kindly attend the meeting either physically or through Video Conferencing.

ours faithfully,

( B. K. Sharma ) Officer on Special Duty-D,

Dahei Special Economic Zone.

AGENDA FOR  $45^{\rm TH}$  (FORTY FIFTH) MEETING OF UNIT APPROVAL COMMITTEE FOR DAHEJ – SEZ TO BE HELD ON  $26^{\rm TH}$  MARCH, 2013, TUESDAY, AT 1130 HOURS IN THE OFFICE OF THE DC, DAHEJ SEZ, AHMEDABAD.

- 45.1 Confirmation of 44th Meeting of Approval Committee.
- 45.2 Report on action taken on decision of 44th Meeting of Approval Committee.
- 45.3 Fresh Cases for unit in Dahej SEZ:

No.	Tune of the rapproxim	Item of Manufacture / Service Activity
01.	M/s. Rishi FIBC Solutions Pvt. Ltd., Vadodara.	Plastics & articles thereof; textile & textile articles

## 45.4 <u>Deferred Cases from previous meetings of the UAC:</u>

Sr. No.	Name of the Applicant	Item of Manufacture / Service Activity
140.	NIL	· ·

### 45.5 Other Cases:

Sr.	Name of the Applicant	Details of Request
No. 01.	M/s. DIC Fine Chemicals Pvt. Ltd., Dahej – SEZ.	Request for broad-banding of LOA, for manufacture and export of Mineral Oil based Inks, and amendment of LOA for DTA sales against payment in foreign exchange.
02	M/s. Dahej SEZ Ltd.,	Approval of list of goods.
03	M/s. Torrent Energy Ltd., Dahej-SEZ.	Approval of list of goods.

# NOTE FOR 44<sup>TH</sup> MEETING OF APPROVAL COMMITTEE FOR DAHEJ SEZ.

### 45.4: <u>FRESH CASES</u>: -

Annexure I is attached.

### 45.5: DEFFERRED CASES:-

NIL

Page	e 1	of	5
1 45	_		

AGENDA FOR  $45^{TH}$  (FORTY FIFTH) MEETING OF UNIT APPROVAL COMMITTEE FOR DAHEJ – SEZ TO BE HELD ON  $26^{TH}$  MARCH, 2013, TUESDAY, AT 1130 HOURS IN THE OFFICE OF THE DC, DAHEJ SEZ, AHMEDABAD.

### 45.5: OTHER CASES:-

## 45.5.1 M/s. DIC Fine Chemicals Pvt. Ltd., Dahe-SEZ.

M/s. DIC Fine Chemicals Pvt. Ltd. vide their application requested for broad-banding of their LOA to include Mineral Oil based Inks for manufacture and export. The proposed project shall have an estimated investment of Rs. 15.00 crore, with corresponding exports to the tune of Rs. 45.00 crore. The item proposed viz. Mineral Oil based inks, can be manufactured in the existing plant & machinery by incorporating few additional equipment listed in the application. The same is recommended for approval to broad-band the LOA to include additional items, in terms of Rule-19 (2) of the SEZ Rules, 2006.

They have also come up with a proposal for inclusion of additional activity in their LOA (amendment of LOA) i.e. <u>Supply of goods and services by them from SEZ to units in DTA against payment in foreign exchange</u>, in terms of the requirements of the RBI Circular No. A.P. (Dir Series) Circular No. 46, dated 23-10-2012

Put up for consideration and approval by the Approval Committee.

## 45.5.2 M/s. Dahej SEZ Ltd., Developer, Dahej-SEZ.

M/s. Dahej SEZ Ltd., vide letter dated 15-03-2013(copy enclosed) have sought approval for procurement of duty-free materials – Annexure-I for the following default Authorized Operation, to be undertaken in the notified SEZ, at Dahej:-

- (i) Water supply lines, water channels of appropriate capacity.
- (ii) Construction of all type of Buildings in processing area.
- (iii) They have also sought approval for additional 19 services at Annexure-II.

The activities proposed are covered in the default list of activities notified by the MOC&I, vide Instruction No. 50, dated 15-03-2010.

The above request of the Developer (DSL) merits consideration in terms of Rule-10 & 12 of the SEZ Rules, 2006.

Put up for consideration and approval by the Approval Committee.

AGENDA FOR  $45^{TH}$  (FORTY FIFTH) MEETING OF UNIT APPROVAL COMMITTEE FOR DAHEJ – SEZ TO BE HELD ON  $26^{TH}$  MARCH, 2013, TUESDAY, AT 1130 HOURS IN THE OFFICE OF THE DC, DAHEJ SEZ, AHMEDABAD.

## 45.5.3 M/S. Torrent Energy Ltd., Dahej - SEZ:-

M/s. Torrent Energy Ltd., co-developer vide letters dated 29-01-2013, and 20-02-2013 (copies enclosed) have sought approval for procurement of duty-free materials – Annexure-I for the following default Authorized Operation, to be undertaken in the notified SEZ, at Dahej:-

a) Water treatment plant, water supply lines, sewage lines, storm water drains and water channels of appropriate capacity;

b) Electrical, gas and petroleum gas distribution network including necessary sub-stations of appropriate capacity, pipeline network; and,

c) Roads with street lighting, signals and signage.

The activities proposed are covered in the default list of activities notified by the MOC&I, vide Instruction No. 50, dated 15-03-2010.

The above request of the Co-Developer (TEL) merits consideration in terms of Rule-10 & 12 of the SEZ Rules, 2006.

Put up for consideration and approval by the Approval Committee.

		-	-
Page	ຸ	~ 6	
Page	• .	OI	-

AGENDA FOR  $45^{\rm TH}$  (FORTY FIFTH) MEETING OF UNIT APPROVAL COMMITTEE FOR DAHEJ – SEZ TO BE HELD ON  $26^{\rm TH}$  MARCH, 2013, TUESDAY, AT 1130 HOURS IN THE OFFICE OF THE DC, DAHEJ SEZ, AHMEDABAD.

# AGENDA NOTE FOR APPROVAL COMMITTEE

## DAHEJ SPECIAL ECONOMIC ZONE

ANNEXURE - I

Name of the applicant.	M/S. Rishi FIBC Solutions Pvt. Ltd., Vadodara.			
Sector	Plastics & articles thereof; textile & textile articles			
Address (Regd.Office)	M/S. Rishi FIBC Solutions Pvt Ltd., 7 <sup>th</sup> Floor, Indra Complex, Opp, Sindhwai Mata Cross Road, Manjalpur, Vadodara-390 004.			
Factory address (proposed)	Processing Zone of Dahej Special Economic Zone			
Type of firm	Private Limited Company.			
Details of property	NA			
Details of documents of ( ) above	NA			
Whether adjudicated or not, if so details of adjudicating authority	NA			
Area of land/factory:	15,000 Sq. Mtrs.			
Proposed items of manufacturing:	Manufacturing of; As Per Attached	Annexure		
Proposed Annual Capacity (MT)	Items Description 1) PP/PE FIBC; 2) PP/PE Bulk container liner; 3) PP/PE Geotextile Fabric; 4) PP Woven sacks; 5) PP fabrics (laminated/un-laminated); 6) PP Tapes; 7) PP Narow Fabric; 8) PP Webing; 9) Liner; 10) Document Pouch/Zip lock; 11) Filler Cord; 12) Woven tape; 13) PP Yarn; 14) PP Multi filament yarn; 15) web tie – PP & MF; 16) Net Baffle; and 17) PP Rope.  3600 MTs.	Annual Capacity MT		
Product value for 5 years (in lacs)	Rs.24,100.00 lakh	Natal CEZ		
Whether conversion from existing DTA unit into EOU/SEZ	existing DTA For setting-up new undertaking in Dahej - SEZ.			
Name of the Promoter: (Proprietor/Partners/ <u>Directors</u> )	Directors:-  1. Mr. Arvind N.Nopany 2. Mr. Harshad patel 3. Mr. Joseph Fransis			

AGENDA FOR  $45^{TH}$  (FORTY FIFTH) MEETING OF UNIT APPROVAL COMMITTEE FOR DAHEJ – SEZ TO BE HELD ON  $26^{TH}$  MARCH, 2013, TUESDAY, AT 1130 HOURS IN THE OFFICE OF THE DC, DAHEJ SEZ, AHMEDABAD.

Flobosed Import of Capital goods.	Rs. 188.00 lakh
Proposed Import of Raw material, Component Consumables, Packing material, fuel etc.	Rs. 5518.00 lakh
FE outgo.	Rs. 74.00 lakh
FOB value of Exports	Rs. 24100.00 lakh
DTA Sales	NIL
NFE	Rs. 18320.00 lakh
Cost of Project (Rs. In lakhs) Plant Machinery Land & Building	Rs. 1820.00 lakh
Others Total Cost	Rs. 1820.00 lakh
Sources of funds (Rs. In lakhs) Promoters Equity Long term Loans	Promoter's contribution/internal accruals; Finance from bank.
Marketing arrangements as given in the	Established world markets.
Whether the items of manufacturing and export are restricted or not Remarks as per Exim Policy	Freely exportable
Whether the unit falls under fraudulent	No
Jurisdiction of Customs/Central Excise (Specify Commissioner ate and Range)	
Employment	285 Men & 15 Women. Total – 300 person.
Recommendation from Excise/Customs	Not Received
Recommendation from Income Tax	Not Received
Recommendation from DGFT	Not Received

### **Brief Note**

The proposal of M/s. Rishi FIBC Solutions Pvt. Ltd., Vadodara is for setting up a new unit in the Dahej-SEZ. They intend to import and procure capital goods worth Rs. 1820.00 lakh for the proposed project. FOB value of exports for the 5 years period is projected at Rs. 24100.00 lakh, with outgo of foreign exchange at Rs. 5780.00 lakh, resulting in NFE of Rs. 18320.00 lakh. The Developer (Dahej SEZ) has agreed in principle approval for allotment of plot of about 15,000 Sq. Mtrs. in the processing zone of Dahej SEZ for the proposed project in Dahej SEZ for setting up of unit.

The proposal is eligible for approval under A/A route. We may therefore if approved, place the same before the **Approval Committee** for consideration, after personal interview of the Promoters/Directors. The proposal is recommended for approval in terms of the Rule-18 of the SEZ Rules, 2006.

Page	5	of	-
rage	9	O1	



### Dahej SEZ Ltd.

Block No.14, 3rd Floor Udyog Bhavan, Sector - 11

Gandhinagar - 382017, Gujarat, India

Phone: +91-79-23241590, 65721608, 65721908

Fax: (079) 23241736

e-mail: ceo@dahejsez.com, ceodsl6@yahoo.in

website: www.dahejsez.com

Date: - 15/03/2013

DSL/2012-13/39\

BY HAND

To,

The Development Commissioner, Office of the Development Commissioner, Dahej Special Economic Zone, 4th Floor, Fadia Chamber, Ashram Road, Ahmedabad-380009 Gujarat

Subject: -Approval of List of Goods and Services for Authorised Operation.

Dear Sir,

Please find the enclosed herewith the list of goods and services duly certified by the Chartered Engineer required for carrying out Authorised Operation in Dahej Special Economic Zone, Dahej.

It is requested to kindly approve for the same in order to claim exemptions and benefits under the SEZ Act 2005 and the SEZ Rules 2006 and the Gujarat SEZ Act.

Thanking you,

Yours faithfully,

For, Dahej SEZ Limited

R.J.Shah

(Chief Executive Officer)

Chartered Engineer (India) Regd. No. M121719-9 of Dtd. 17-12-2001

### **List of Goods:**

#### Annexure-I

Name of SEZ: Dahej SEZ

Developer Name ; Dahej SEZ Limited LOA No. F. 2/9/2003-EPZ dated 21/09/2005 Notification No. S.O. 2131(E) dated 20/12/2006 (98)

Sr.No.	Item Description	UOM	Tentative Qty.	Tentative Rate in Rs.	Tentative Value in Rs.
1	2	3	4	5	6
	List of goods for Rising main-from Sump SEZ Part-I to Tapping with Existing Rising main				
1a	Supply of 600 mm dia D.I. Pipe of K-9 grade with internal cement mortar lining as per (IS-8329-2000).	Rmt.	1850.00	6486.51	12000043.50
1b	Supply of 150 mm dia D.I. Pipe of K-9 grade with internal cement mortar lining as per (IS-8329-2000) of 3 Rmt long each.	Nos	6	8910.00	53460.00
2	Supply of D I fittings as per BS-EN-545/1995 Class-A series of K12 grade With External bitumen & Zink coating & internal Cement mortar Lining.				
а	600 X 150 DOUBLE SOCKET FLANGED TEE	Nos	6	14280.00	85680.00
b	600 MM FLANGED SOCKET TAIL PIECE	Nos	4	10140.00	40560.00
С	600 MM FLANGED SPIGOT TAIL PIECE	Nos	4	12400.00	49600.0
d -	600 MM SOCKET 45 DEGREE BEND	Nos	14	16430.00	230020.0
е	DI BARREL 1 MT LENGTH	Nos	20	7460.00	149200.0
3	C I Butterfly Valves as per IS 13095, PN 1.6- 600 mm dia.	Nos	2	122188.00	244376.0
4	Supply 150 mm dia of Tamper proof Kinetic air valve with stainless steel balls, double ball, double orifice, air release and anti- vacuum	Nos	6	32000.00	192000.00
5	Supply of 1200mm dia MS pipe.	Rmt.	60.00	16740.00	1004400.0
6	Supply of 600 mm dia Full Bore Electromagnetic flow meter	Nos	2	296977.00	593954.0
	Total (A)				14643293.5
	List of goods for Administrative Office of DSL/DC				
1	Air Conditioners	Nos	70	35000.00	2450000.0
2	Steel Cupboards	Nos	15	10000.00	150000.0
3	Racks	Nos	10	8000.00	80000.0
4	Fans	Nos	10	2500.00	25000.0
5	Furnitures	Lot			3000000.0
6	Computers	Nos	12	40000.00	480000.0
7	Printer Cum Fax	Nos	5	18000.00	
8	LCD	Nos	12		
9	Projectors	Nos	4	75000.00	300000.0
10	CC TV Camera with necessary supporting system	Nos	15		
11	DVR	Nos	3		
12	Inverter	Nos	1	3000000.00	
13	EPABX	Nos	1	60000.00	
	Total (B)				10520000.00
	Grand Total (A+B)				25163293.50

Mukesh A. Patel M. (Civil) Chartered Engineer (India) Regd. No. M121719-9 of Dtd. 17-12-2001 For, Dahej SEZ Limited (SEZ Developer)

R.J. Shah

**Chief Executive Officer** 



### **List of Services:**

### Annexure-II

Name of SEZ: Dahej SEZ

Developer Name ; Dahej SEZ Limited

LOA No. F. 2/9/2003-EPZ dated 21/09/2005

Notification No. S.O. 2131(E) dated 20/12/2006

Sr.No.	Description of Services
1	ATM operation, maintenance or management services
2	Authorised Service Stations for motor vehicles servicing or repairs including tyre trading /garage
3	Banking and other financial services
4	Business Exhibition Service
5	Construction of residential complex service
6	Construction Services – Preferential Location and Development
7	Development & supply of content for telecommunication, advertising and on-line information services
8	Dredging services
9	Health Services
10	Internet café's services
11	Legal consultancy services
12	On-line information and database access and/or retrieval services
13	Photography services
14	Renting of immovable property services
15	Ship management services
16	Survey and map making services
17	Infrastructure/Engineer Maintaince Service
18	Fabrication/Repaires Services
19	All kinds of Training Service

Mukesh A. Patel ME. (Civil)
Chartered Engineer (India)
Regd. No. M121719-9
of Dtd. 17-12-2001

For, Dahej SEZ Limited (SEZ Developer)

R.J. Shah

Chief Executive Officer

# Mukesh A. Patel

B.E.(Civil), M.E.(Civil) Chartered Engineer

Regd. Office - 310/2 Mangalmurti Park, Sector-8, Gandhinagar - 382007, Ph: 079-23289125, 32428856

Office - L -27, Darshan Complex, Nr. Arjuan Tower, Rannapark, Ghatlodia, Ahmedabad-61, Ph : 079-27460789,32525656

E-mail: mukeshpatel1966@yahoo.co.in



### TO WHOM SO EVER IT MAY CONCERN

This is to certify that these are the goods and services mentioned in enclosed Annexure-I and II herewith are required for carrying out authorised operations as approved by the Board of Approval vide letter no. F.2/9/2003-EPZ dated 21/09/2005. For setting up a Multi Product Special Economic Zone at Dahej, Dist. – Bharuch, Gujarat.

This certificate is issued at the request of M/s. Dahej SEZ Limited, Dahej, Dist. – Bharuch, Gujarat.

For, Mukesh A. Patel

Chartered Engineer B.E.(Civil), M.E.(Civil), M.I.E. M.I.R.C., M.I.G.S., M.I.C.I. M.A.C.I., M.I.S.S.M.G.E. ESH PYANTES SUJARAT A

Mukesh A. Patel M.E. (OHI) Chartered Engineer (India) Regd. No. M121719-9 of Dtd. 17-12-2001 Date:-15/03/2013.







Plot No. Z-9

Dahei SEZ Area (Eastern Side) Taluka Vagra, Dist. Bharuch-392130 Phone: +91-2641-612000

: +91-2641-612008

February 20, 2013

The Development Commissioner, Dahej Special Economic Zone Fadia Chambers, Ashram Road, Ahmedabad - 380 009

Sub: Submission of Additional List of Goods and Services for your Kind Approval

Receipt

Dear Sir,

With reference to your Letter No. KASEZ/DCO/DAHEJ/II/17/2008-09/VOL.III/6562 dt. 10th April 2012 granting status of Co-Developer in processing area for power generation up to 1500 MW and necessary transmission and distribution network in Dahej Special Economic Zone, we are enclosing herewith the additional list of Goods and Services and request you to please approve it at the earliest so that process of procurement of goods and services for implementation of the project remains unaffected and continue.

Thanking you,

Yours faithfully,

For Torrent Energy Limited,

Authorized Signatory

CC to: The Dy. Commissioner,

Dahej SEZ,

Dahej.



Date: - 20/02/2013

### TO WHOM SO EVER IT MAY CONCERN

This is to certify that these are the goods and services mentioned in enclosed annexure, are required for carrying out authorized operations i.e. Electricity Generation, Transmission and Distribution Networks as approved vide Letter of Approval No. F.2/9/2003-EPZ Dated 10/10/2008 as a Co-Developer at Dahej SEZ, Dist-Bharuch, Gujarat.

This certificate is issued at the request of M/s. Torrent Energy Ltd., Torrent House, Opp. Ashram Road, Ahmedabad – 380009.

Yours truly,

DINESH PATEL

Chartered Engineer.

DINESH PATEL

Chartered Engineer (India)

B.E. CIVIL - MIE - 058332-9 Approved Valuer - F - 22162

VMSS - ER - 294

+91 99980 16651 dap1525@gmail.com



Name of SEZ Co-Developer: - TORRENT ENERGY LTD.

Address: - Torrent House, Off Ashram Road, Ahmedabad - 380009

Letter of Approval No.:- F.2/9/2003-EPZ dated 10/10/2008

List of Goods & Services: - Annexure-1 for List of Goods (Domestic)

### Annexure 1 - List of Goods (Domestic)

Tentative Material required for Authorized Operations for Power Generation, necessary Transmission and Distribution Network, Project at Dahej Special Economic Zone

Sr. No.	Item Desctiption	иом	Qty.	Tentative Rate (Rs.)	Tentative Total Amt. (Rs.)
A	WATER TRATMENT PLANT, WATER SUPP WATER CHANNEI				
1	Supply of MOV Panel	No.	1	54190.00	54190
2	Supply of MOV Panel	No.	1	24070.00	24070
B	ELECTRICAL, GAS AND PETROLEUM N NECESSARY SUB-STATIONS OF A				
/ 3	100 Dia PVC pipe	RMT	1800	163.51	294318
	Reinforcement steel	RMT	20	47,000.00	940000
5	300 dia RCC hume pipes	RMT	200	700.00	140000
6	Cement	Nos.	500	300.00	150000
7	900 dia CI cover	Nos.	20	4,700.00	94000
8	HDPE Pipe 50mm ID dia black colour 6 kg	Mtr	100	144.00	14400
9	120Sq.mm long barrel lugs	No.	300	45.23	13569
10	Alu strip 2 mm thick X 19 mm wide (12 Feet long)	Mtr	50	110.00	5500
11	45 X10 mm dia bolt with nut & 2 no washer	No.	380	20.00	7600
12	65X10 mm dia bolt with nut & 2 no washer	No.	45	32.50	1463
13	60X10 mm dia bolt with nut & 2 no washer	No.	50	21.87	1094
14	GI Earthing ,U< Type calmp	No.	180	130.00	23400
15	2XWY 2 C X 4 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	3150	119.00	374850
16	A2XWY, rm , 4 C X 6 Sq. mm (X) – 1.1 KV LT XLPE Aluminum Armoured FRLs Cables	Mtr	525	64.00	33600
17	YWY,rm, 3C X 2.5 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	525	79.00	41475
18	YWY,rm, 5 C X 2.5 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	8925	114.00	1017450
19	YFY,rm, 10C X 2.5 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	1050	192.00	201600

For Torrent Energy Ltd.

Authorised Signatory

Chartered Engineer (India) B.E. CIVIL - MIE - 058332-9

Approved Valuer - F - 22162 Approved Valuer - Page 1 of 2

VMSS - ER - 294



Sr. No.	Item Desctiption	иом	Qty.	Tentative Rate (Rs.)	Tentative Total Amt. (Rs.)
20	YFY,rm, 19C X 2.5 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	1575	333.00	524475
21	YFY,rm, 27C X 2.5 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	1575	461.00	726075
22	XLPE Aluminum Armoured FRLs Cables	Mtr	300	482.00	144600
23	A2XFY,sm,3.5 C X 95 sq.mm.,(x) 1.1 KV LT XLPE Aluminum Armoured FRLs Cables	Mtr	1575	260.00	409500
24	A2XWaY ,RM/V , 1 C X 25 Sq.mm., (x) 1.1 KV LT XLPE Aluminum Armoured FRLs Cables	Mtr	3675	48.00	17⊳400
25	YWY,rm, 14 C X 2.5 Sq mm,(x) 1.1 KV LT XLPE Plain Copper Armoured FRLs Cables	Mtr	3675	253.00	929775
26	Spacer for Quad Moose Drg.No.36115 Rev.0	No.	9	1,670.00	15030
27	Expansion clamp for IPS tube on BPI Drg.No.35:	No.	8	5,450.00	43600
	DRIP AND MIC	RO IRRIGA	TION SYSTI	EMS	
28	PP clamp saddle 63 X 1"	Nos	6	145.00	870
29	PVC Ball Valve 75 mm	Nos	1	1850.00	1,850
30	PVC reducer 200 x 110 mm	Nos	2	1830.00	3,660
31	Double acting Kinetic air release valve 2"	Nos	2	5722.00	11,444
32	GM Valve 2" T1-8 Nibco	Nos	2	3465.00	6,930
33	PP Clamp saddle 200 x 2"	Nos	2	4795.00	9,590
34	PVC elbow 250 mm	Nos	1	10612.00	10,612
35	PVC 63 mm dia pipes	RMT	2892	57.00	164,844
36	PVC 75 mm dia pipes	RMT	534	81.00	43 ~ 54
	FUEL STORAGE A	ND DISTRI	BUTION SY	STEM	
37	75 KVA dry Type Cast Resin Transformer	No.	2	288,000.00	576000
38	125A SFU Box	No.	1	12,222.00	12222
39	3.5C x 185 Sq.mm XLPE insulated cable	Mtr	700	482.00	337400

For Torrent Energy Ltd.

Authorised Signatory

DINESH PATEL

Chartered Engineer (India) B.E. CIVIL - MIE - 058332-9

Approved Valuer - F - 22162 VMSS - ER - 294



January 29, 2013

The Development Commissioner, Dahej Special Economic Zone Fadia Chambers, Ashram Road, Ahmedabad - 380 009



Dahel SEZ Area (Eastern Side). uka Vagra, Dist. Bharuch-392130 Phone: +91-2641-256481, 256482 Fax: +91-2641-256480

Sub: Submission of Additional List of Goods and Services for your Kind Approval

Dear Sir,

With reference to your Letter No. KASEZ/DCO/DAHEJ/II/17/2008-09/VOL.III/6562 dt. 10th April 2012 granting status of Co-Developer in processing area for power generation up to 1500 MW and necessary transmission and distribution network in Dahej Special Economic Zone, we are enclosing herewith the additional list of Goods and Services and request you to please approve it at the earliest so that process of procurement of goods and services for implementation of the project remains unaffected and continue.

Thanking you,

Yours faithfully,

For Torrent Energy Limited,

Authorized Signatory

CC to: The Dy. Commissioner, Dahej SEZ,

Dahej.

N.12-Bhovsor

4Th Floor, Fadia Chambers, TORRENT ENERGY LIMITED Ashram Road, Ahmedabad-9



394

B.E., MIE – M-058332/9 CHARTERED ENGINEER (CIVIL) REGISTERED VALUER – F-22162

Date: - 30/01/2013

#### TO WHOM SO EVER IT MAY CONCERN

This is to certify that these are the goods and services mentioned in enclosed annexure, are required for carrying out authorized operations i.e. Electricity Generation, Transmission and Distribution Networks as approved vide Letter of Approval No. F.2/9/2003-EPZ Dated 10/10/2008 as a Co-Developer at Dahej SEZ, Dist-Bharuch, Gujarat.

This certificate is issued at the request of M/s. Torrent Energy Ltd., Torrent House, Opp. Ashram Road, Ahmedabad – 380009.

Yours truly,

Chartered Engineer.

**DINESH PATEL** 

B.E. CIVIL - MIE - 058332-9 Approved Valuer - F - 22162 VMSS - FP - 294



Name of SEZ Co-Developer :- TORRENT ENERGY LTD.

Address:-Torrent House, Off Ashram Road, Ahmedabad - 380009

Letter of Approval No. :- F.2/9/2003-EPZ dated 10/10/2008

List of Goods & Services: - Annexure-1 for List of Goods (Domestic)

### Annexure 1 - List of Goods (Domestic)

Tentative Material required for Authorized Operations for Power Generation, necessary Transmission and Distribution Network, Project at Dahej Special Economic Zone

Sr. No.	Item Desctiption	иом -	Qty.	Tentative Rate (Rs.)	Tentative Total Amt. (Rs.)	
	ROADS WITH STREET LIGHTING, SIGNALS AND SIGNAGE					
1	150W CDMTT street light lamps	Nos.	20.00	1,500.00	30,000.00	
	ELECTRICAL, GAS AND PETROLEUM NATURAL GAS DISTRIBUTION NETWORK INCLUDING NECESSARY SUB-STATIONS OF APPROPRIATE CAPACITY, PIPE LINE NETWORK					
2	CABLE TRAYS & ACCESSORIES	. 31 7			0:	
	HOT DIP GALVANISED STEEL LADDER TYPE CABLE TRAYS INCLUDING STRAIGHT LENGTHS, ELBOWS, TEES, CROSSES, REDUCERS ETC.					
2.1.1	600 mm WIDE	Meters	100.00	355.00	35,500.00	
2.1.2	300 mm WIDE	Meters	275.00	288.00	79,200.00	
2.2	HOT DIP GALVANISED STEEL PERFORATED TYPE CABLE TRAYS INCLUDING STRAIGHT LENGTHS, ELBOWS, TEES, CROSSES, REDUCERS ETC.	9				
2.2.1	600 mm WIDE	Meters	50.00	785.00	39,250.00	
2.2.2	300 mm WIDE	Meters	150.00	450.00	67,500.00	
2.2.3	100 mm WIDE	Meters	50.00	225.00	11,250.00	
2.2.4	50 mm WIDE	Meters	50.00	175.00	8,750.00	
3	EARTHING & LIGHTNING PROTECTION SYSTEM					
3.1	75X12 GS Flat	Kg	3,400.00	70.30	239,020.00	
3.2	50X6 GS Flat	Kg	360.00	73.15	26,334.00	
4	CABLE GLANDS					
4.1	FOR LT POWER CABLES -XLPE (Aluminium/ Copper, Armoured)				2	
4.1.1	3.5C X 95 sq.mm	Nos.	5.00	381.90	1,909.50	
4.1.2	1C X 95 sq.mm	Nos.	6.00	116.85	701.10	
4.1.3	2C X 4 sq.mm (Copper)	Nos.	10.00	79.80	798.00	
4.1.4	4C X 4 sq.mm(Copper)	Nos.	2.00	98.80	197.60	
4.1.5	4C X 6 sq.mm	Nos.	10.00	116.85	1,168.50	
4.1.6	2C X 6 sq.mm	Nos.	5.00	79.80	399.00	
417	3C X 185 sq.mm (Copper)	Nos.	5.00	437.00	2,185.00	

For Torrent Energy Ltd.

Authorised Signatory

DINESH PATEL

Chartered Engineer (India)f 3 B.E. Civil 12 E - 058332-9

Approved Valuer - F - 22162

VMSS - ER - 194



Sr. No.	tem Desctiption	UOM	Qty.	Tentative Rate (Rs.)	Tentative Total Amt. (Rs.)		
4 2 F	FOR CONTROL CABLES FRLS PVC (Armoured,		V	(NS.)	Amt. (KS.)		
	Copper) CC X 2.5 Sq. mm	Nos.	5.00	79.80	399.00		
100000000000000000000000000000000000000	6C X 2.5 Sq. mm	Nos.	20.00	79.80	1,596.00		
	0C X 2.5 Sq. mm	Nos.	5.00	116.85	584.25		
The control of	4C X 2.5 Sq. mm	Nos.	10.00	116.85	1,168.50		
100000000000000000000000000000000000000	9C X 2.5 Sq. mm	Nos.	5.00	116.85	584.25		
_	27C X 2.5 Sq. mm	Nos.	2.00	197.60	395.20		
A CONTRACTOR OF THE PARTY OF TH	CABLE LUGS	1100.	2.00	107.00	000.20		
5.1 T	TINNED COPPER SOLDERLESS CRIMPING TYPE CABLE LUGS FOR THE FOLLOWING CONDUCTOR SECTIONS						
	185 Sq.mm	Nos.	6.00	83.60	501.60		
5.1.2 1	20 Sq.mm	Nos.	300.00	45.23	13,569		
5.1.3 9	95 Sq.mm	Nos.	30.00	33.06	991.80		
5.1.4 2	2.5 Sq.mm	Nos.	650.00	2.78	1,808.95		
5.1.5 6	S Sq.mm	Nos.	40.00	4.25	169.84		
5.1.6 4	4 Sq.mm	Nos.	40.00	3.80	152.00		
5.2 N	MAXITERMINAL LUGS FOR THE FOLLOWING CA	BLE					
5.2.1 0	0.5 Sq. mm.	Nos.	75.00	0.57	42.75		
6 4	CONDUITS & PIPES (INCLUDING ALL ACCESSORIES LIKE COUPLERS, BENDS, FEES ETC)	3	(4)	1 a 2 a			
6.1	HOT DIP GALVANISED RIGID STEEL CONDUITS OF THE FOLLOWING SIZES.						
0.1.1	32 mm DIA	Meters	25.00	190.00	4,750.00		
	33 mm DIA	Meters	25.00	375.25	9,381.28		
Table A Construction	100 mm DIA	Meters	50.00	691.60	34,580.00		
h / I	HOT DIP GALVANISED MS PIPES OF THE FOLLOWING SIZES						
6.2.1	100 mm DIA	Meters	25.00	691.60	17,290(		
6.3 F	FLEXIBLE STEEL CONDUITS OF THE FOLLOWIN	IG SIZES					
6.3.1	33 mm DIA	Meters	25.00	99.75	2,493.75		
	DRIP AND MICRO IRRIGATION SYSTEMS						
7 5	Sand filter 60 m3/hr semi auto backwash.	Set	1.00	71,049.00	71,049.00		
8	Pressure relief Valve 2"	Nos.	1.00	13,485.00	13,485.00		
	Starter panel for 5 HP pump	Nos.	2.00	8,700.00	17,400.00		
	Pump Header for two 5 HP pump	Set	1.00	6,500.00	6,500.00		
	Non return valve 3 inch (CI)	Nos.	2.00	6,250.00	12,500.0		
	PVC Elbow 200 mm	Nos.	3.00	3,739.00	11,217.0		
	PVC reducer 250 x 200 mm	Nos.	1.00	4,911.00	4,911.00		
	PVC reducer 200 x 110 mm	Nos.	2.00	1,830.00	3,660.00		
accept to	PVC Tee 200 mm	Nos.	3.00	4,945.00	14,835.00		

For Torrent Energy Ltd.

Authorised Signatory

DINESH PATEL

Chartered Engilled (ndfa) B.E. CIVIL - MIE - 058332-9 Approved Valuer - F - 22162 VMSS - ER - 294



Sr. No.	Item Desctiption	иом	Qty.	Tentative Rate (Rs.)	Tentative Total Amt. (Rs.)		
16	Pump header for 10 HP pump connecting filter.	Set	1.00	8,500.00	8,500.00		
	PARKING INCLUDING MULTI - LEVEL CAR PARKING (AUTOMATED / MANUAL)						
17	Gemini make Parking Light for 1 x 150 W MHL with 150 W Ballast to be mounted on 100 mm OD GRP Pole	Nos.	10.00	14,500.00	2,493.75		
18	CG make 150 W MH Eliptical Lamp	Nos.	10.00	500.00	2,493.75		
	CONSTRUCTION OF ALL TYPE OF BUILDINGS IN PROCESSING AREA						
19	Weatherproof light fittings	Nos.	4.00	2,000.00	8,000.00		
	Canteen LED Light fitting LDR0008 10WW	Nos.	1.00	2,700.00	2,700.00		
	70W MH lamps	Nos.	4.00	490.00	1,960.00		
200	Cement	Bag	5,700.00	300.00	1,710,000.0		
23	Reinforcement steel	Mt.	62.00	55,000.00	3,410,000.00		
24	1000 micron HDPE Sheet	M2 <sup>-</sup>	150.00	50.00	7,500.00		
25	Chainlink fencing	M2	400.00	350.00	140,000.00		
26	Structural steel	Mt.	10.00	59,000.00	590,000.00		
27	FRP grating (38mm x 38mm Square size)	M2	180.00	4,200.00	756,000.00		
28	Pressed steel door	M2	15.00	6,773.13	101,596.9		
29	Fire door	M2	6.00	11,466.00	68,796.0		

For Torrent Energy Ltd.

Authorie od Signatory

DINESH PATEL

Chartered Engineer (India) B.E. CIVIL - MIE - 058332-9 Approved Valuer - F - 22162 VMSS - ER - 294